DIVISION AND MULTIPLYING BY 10s (H - SET 2)
DIVISION BY 1000

Name:

Time:

Score:

o0 814000 + 1000 =

2150000 <+ 1000 =

311000 =+ 1000 =

0520000 <+ 1000 =

991000 == 1000 =

w0 286000 = 1000 =

w0 320000 == 1000 =

s 423000 <+ 1000 =

9855000 == 1000 =

70430000 <+ 1000 =

Mathematics: Division - Level 2 - Horizontal - Set 2
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944000 + 1000 =

430000 = 1000 =

545000 =+ 1000 =

519000 = 1000 =

870000 = 1000 =

782000 =+ 1000 =

761000 =+ 1000 =

80000 <+ 1000 =

458000 + 1000 =

65000 - 1000 =
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